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Flag question

Question text

Which trading individuals has SEBI decided to grant a unified license to operate in commodity derivative and
equity markets?

Select one:

a. Clearing Members & Brokers

b. Brokers

c. NBFCs

d. All of these
Feedback

The correct answer is: Clearing Members & Brokers CO .

Question 8 tesa\e *

Correct

O
Mark 1.00 out of 1.00 m N
p(e\’ \© % 20

Flag question

Question text

Dividend Payout Ratio=

Select one:

a. DPS/EPS

b. MPS/EPS

c. DPS/MPS

d. NPAT- Pref Dividend / No of shares Outstnading
Feedback

The correct answer is: DPS/EPS

Question 9
Incorrect
Mark 0.00 out of 1.00
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Flag question

Question text

What is MMMF?

Select one:

a. Monetary Market Mutual Funds
b. Money Market Mutual Funds

c. Money Medium Mutual Funds
d. None of these

Feedback

The correct answer is: Money Market Mutual Funds u\(

Question 6

Incorrect tesa\e '

Mark 0.00 out of 1.00

Question text

Relaxing the restrictions and controls imposed on Business and industry means
Select one:

a. Monetisation

b. Globalisation

c. Liberalisation

d. Privatisation

Feedback

The correct answer is: Liberalisation

Question 7
Correct
Mark 1.00 out of 1.00
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Flag question

Question text

Whom values of assets is to be considered while calculating purchase consideration?
Select one:

a. Revalued price

b. Capital

c. Book value

d. Average price
Feedback

The correct answer is: Revalued price u\(
cO-
.

Question 10

:\?IZ?ITS%O out of 1.00 Notesa\e

Question text

Which of the following has the highest cost of capital?
Select one:

a. Equity shares

b. Bonds

c. Loans

d. Preference shares

Feedback

The correct answer is: Equity shares
Question

Company images and brand equity is factor affecting business

Select one:
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Flag question

Question text

Which is political stability is the major factor concerning?
Select one:

a. Systematic risk.

b. Exchange risk.

c. Country risk.

d. Unsystematic risk.
Feedback

The correct answer is: Country risk. \(
cO U

Question 3

\e-
:\?IZ?ITS%O out of 1.00 Notesa

P ( Flag question P age

Question text

While calculating purchase price, the following values of assets are considered
Select one:

a. Average values

b. New values fixed

c. Book value

d. Market values

Feedback

The correct answer is: New values fixed

Question 4
Correct
Mark 1.00 out of 1.00
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Flag question

Question text

Share holders are called what among the following?
Select one:

a. Debtors

b. None of these

c. Creditors

d. Owners
Feedback

The correct answer is: Owners u\(
Question 5 \e N
N d

Marked out of 1.00 Noxesa

P ( Flag question P age

Question text

If, NPAT =50, EBT =45, Pref Dividend = 9.6, No of Shares = 20 . than EPS=

Select one:
a. 3.01
bh.2.09
c.2.04
d. 2.02
Feedback

The correct answer is: 2.02

Question 6
Incorrect
Mark 0.00 out of 1.00
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Flag question

Question text

Premium received on issue of shares cannot be utilised for which among these?
Select one:

a. for the issue of bonus shares

b. for providing premium payable on redemption

c. for distribution of dividend

d. for writing of preliminary expenses

Feedback

The correct answer is: for distribution of dividend u\(

Question 5 \e .
d
Marked ot of 1.00 Noxesa

P ( Flag question P age

Question text

If the stock moves less than the market , the stocks betais 1.0
Select one:

a. more than

b. less than

c. equal to

d. above

Feedback

The correct answer is: less than

Question 6
Correct
Mark 1.00 out of 1.00
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Flag question

Question text

Price Earning Ratio =

Select one:

a. Equity capital + Reserves / EPS
b. PAT/ No otf Equity Shares

c. EPS/DPS

d. MPS/EPS

Feedback

The correct answer is: MPS/EPS

Question 7
Not answered
Marked out of 1.00

. e\N
P ( eFl\ag }uestion P age

Question text

Who is called a father of fundamental analysis?
Select one:

a. Benjamin Graham

b. Timbergen

c. Elliot Wave

d. William

Feedback

The correct answer is: Benjamin Graham

Question 8
Not answered
Marked out of 1.00
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Flag question

Question text

Name a speculator expert’s rise in price of a share.
Select one:

a. Index

b. Stag

c. Bear

d. Bull
Feedback

The correct answer is: Bull \)\(
Question 9 \e .
N d

Marked out of 1.00 \\\Oxesa

VA
e\WN
P ( eFl\ag }uestion P age

Question text

A form of short-term borrowing by dealers in government securities is called?
Select one:

a. commercial paper

b. banker's acceptances.

c. repurchase agreements.

d. reserve requirements

Feedback

The correct answer is: repurchase agreements.

Question 10
Not answered
Marked out of 1.00
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Flag question

Question text

If you can use information to earn abnormal returns consistently, then the market cannot be form
efficient.

Select one:

a. private, semi-strong

b. private, weak

c. public, semi-strong

d. public, weak

Feedback

The correct answer is: public, semi-strong CO .

onl \S-
g Notes?
Mark 0.00 out of 1.00

preV'e oa0e

Flag question

Question text

Risk due to fall in the value of money is referred to as
Select one:

a. Financial Risk

b. Interest Rate Risk

c. Indexation Risk

d. Purchasing Power Risk

Feedback

The correct answer is: Purchasing Power Risk

Question 2
Correct
Mark 1.00 out of 1.00
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Flag question

Question text

What is the base year of Nifty?
Select one:

a. 1993

b. 1978

c. 1979

d. 1992
Feedback

The correct answer is: 1992 \)K

Question 3

\e-
:\?IZ?ITS%O out of 1.00 Notesa

. e\N
P ( eFl\ag }uestion P age

Question text

Risk due to fall in the value of money is referred to as
Select one:

a. Indexation Risk

b. Financial Risk

c. Purchasing Power Risk

d. Interest Rate Risk

Feedback

The correct answer is: Purchasing Power Risk

Question 4
Not answered
Marked out of 1.00
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b. MPS/EPS
c. NPAT- Pref Dividend / No of shares Outstnading

d. DPS/MPS
Feedback

The correct answer is: DPS/EPS

Question 3
Not answered
Marked out of 1.00

Flag question

Question text

A portfolio comprises of two stocks A and B. Stock A gives a return of 8% and stoc @'ve\a}%ﬁw of 7%.
Stock A has a weight of 60% in the portfolio. What is the portfolio return?\e *
.

NoteS
b. 0.08 . "
c.0.1 e\N

Feedback

YD

The correct answer is: 0.08

Question 4
Not answered
Marked out of 1.00

Flag question

Question text

Using the constant growth model, an increase in the required rate of return from 16 to 19 percent combined
with an increase in the growth rate from 8 to 11 percent would cause the price to

Select one:

a. d) Fall more than 3%.
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b. ¢) Remain constant.
c. Rise less than 3%.
d. Rise more than 3%
Feedback

The correct answer is: Rise less than 3%.

Question 5
Correct
Mark 1.00 out of 1.00

Flag question

Question text

EBIT- Interest = O .
Select one: esa\e .C

a. NPAT NO‘
b. Amount Available for Equity S
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The correct answer is: EBT

Question 6
Not answered
Marked out of 1.00

Flag question

Question text

The market risk premium is 15% and the risk-free rate is 5%. The beta of Asset D is 0.2. What is Asset D’s
expected return under the CAPM?

Select one:

a.0.3

O b.0.03



